N & 0l & AFSE G Al A
20243 =& 1 3 Les|H SXE M
2A: =SXEE
A HHZAN2H(SXE L)
tHel: EARE2A CEERD
SA-ZH - SA(3) - MRAY - BAS Oi &koK JE N Hlnsz
SXNZEL 19,729,792 18,427,174 1,302,618
= 10,928,520 10,771,596 156,924
s 599,902 580,915 18,987
== 1,980,991 1,920,248 60,743
o 6,220,379 5,154,415 1,065,964
YA 2H(SXE D) 3,600 6,900 23,300
EAZE2H 3,600 6,900 /3,300
oIE2HZ| 3,600 6,900 /3,300
203 ZFF=&H| 3,600 6,900 23,300
01 J|22F A=A 0 3,300 23,300
OJ |22 HSRFA| o 0 3,300 23,300
QXX Dlgr 25t 729,239 714,162 15,077
= 1,125 0 1,125
== 79,849 79,100 749
i 648,265 635,062 13,203
EX01E 29 343,784 343,834 AB0
= 1,125 0 1,125
== 79,849 79,100 749
i 262,810 264,734 A1,924
=EX01E 249 18,200 17,200 1,000
203 24| 3,000 2,000 1,000
03 AIF=RHSFAIY| 3,000 2,000 1,000
OFLUSXAHIA HRFE
3,000,000 3,000 2,000 1,000
SHedAt & A AR XA 300 3,600 /3,300
301 Let2d= 300 3,600 /3,300
02 ASIEEEES(FHLHS, KNEMA) 300 3,600 /3,300
ORAD AFLXE Ald ™2l 2 &I
0& 0 3,300 23,300
MBI XIJA 2,250 0 2,250
= 1,125 0 1,125
= 749 0 749
i 376 0 376
301 LEt2d= 2,250 0 2,250
= 1,125 0 1,125
= 749 0 749
o 376 0 376
01 ASIEEE2ES(2DEZME) 2,250 0 2,250
O X &H] XJAA 2,250,000& 2,250 0 2,250
= 1,125 0 1,125
= 749 0 749
i 376 0 376
FoloIZ2Ad 2R N2 385,455 370,328 15,127




2AM: SXE M
M FOXX OIEE 25
o FRI0IEAIE2LIRNL2Y CEREEN
SA-ZH - SA(3) - MRAY - BAS Oif o J &3 N Hlws2
ENEREE 355,455 340,328 15,127
101 Q1 A4H| 85,347 78,724 6,623
04 JRHH2ENSES 85,347 78,724 6,623
O&aEHET g2 22| 6,623 0 6,623
0= 30,44021%101x 125 4,930 0 4,930
0=Xt=< 39,440R%101x20 2! 789 0 789
0 Xt 30,440 101x4 L 158 0 158
== 5,876,56024%101%4 . 5% 265 0 265
0HSEE 5,876,560 101%3.545% 209 0 209
0L QIEDIRYEE 208,320%101%12.81% 27 0 27
01E=ZS 5,876,560 %101%1.75% 103 0 103
0ATHE S 14,119,52024%101% 1% 142 0 142
201 23| 121,904 115,400 6,504
01 At22teld| 23,504 17,000 6,504
OR01g|, A8, MI|otM22| S(SA, M=,
Ch, A E) 323, 000 #4J Ax 122 15,504 9,000 6,504
401 Al&HIZ 20| 137,204 135,204 2,000
01 A&t 137,204 135,204 2,000
MEHEX 2 AEE>
7,000,000 7,000 5,000 2,000
=t B 22| 2,133,420 2,121,420 12,000
& 390,300 390,300 0
o 1,743,120 1,731,120 12,000
28N 150,570 138,570 12,000
& 1,500 1,500 0
o 149,070 137,070 12,000
dEg 2 AY 19,005 21,005 A2,000
203 HR=& 0 2,000 A2,000
03 AIZHZ=Z 0 2,000 A2,000
OEAIE o 0 2,000 A2,000
SERSA 2X ol 14,000 0 14,000
401 Al&HIY 14,000 0 14,000
01 AI&HI 14,000 0 14,000
OsER3k & s
2,000,000 %7 A 14,000 0 14,000
s =AXNE € S 1,775,470 1,601,457 174,013
= 489,074 492,316 A3,242
fas 419,307 400,320 18,987
[ 220,952 172,820 48,132
o 646,137 536,001 110,136
S|Y=KIXA 1,583,933 1,411,038 172,895
455,316 459,116 A3,800
419,307 400,320 18,987




2A: =SXEE
M oSS SAXE L XAESA
£l SIg=NNE (Erol:®el)
SA - BB O(3) - HIRARY - BYS 0 o lE o Hms2
= 206,574 159,783 46,791
= 502,736 391,819 110,917
SEAA 22| At 7,600 7,600 0
= 0 3,800 A3,800
s 3,800 0 3,800
i 3,800 3,800 0
201 L2 3FH| 3,600 3,600 0
= 0 1,800 1,800
s 1,800 0 1,800
i 1,800 1,800 0
01 AtR2elt] 3,600 3,600 0
OsE88 = 72 2,960,000& 2,960 2,960 0
= 0 1,480 1,480
s 1,480 0 1,480
i 1,480 1,480 0
OSEAtell 22t nEH|
80,0002 *201%43 640 640 0
= 0 320 A320
s 320 0 320
= 320 320 0
301 LEt2d= 4,000 4,000 0
= 0 2,000 22,000
s 2,000 0 2,000
= 2,000 2,000 0
01 A EE LS (2 DEZ ML) 4,000 4,000 0
OSeEAtell 22| AR XI&b|
1,000, 0002 x4+ 4,000 4,000 0
= 0 2,000 22,000
s 2,000 0 2,000
= 2,000 2,000 0
SEArIZ2IAL 2124H| 69,456 67,752 1,704
s 34,728 33,876 852
i 34,728 33,876 852
101 @I244| 69,456 67,752 1,704
s 34,728 33,876 852
i 34,728 33,876 852
02 JIEtA B == 37,536 35,496 2,040
OSEAAIZ2IAHAIZHEER R D IHISR) 37,536 35,496 2,040
001=22(IIH93)
2,352,580 % 101122 28,231 26,428 1,803
s 14,115 13,214 901
i 14,116 13,214 902
(Pl el 4,014,000%101 4,014 2,961 1,053
s 2,007 1,480 527




A SXEMt
M OIEE SKKA L XEASA
=l s|USAXE (cro): & 2l)
SA-ZH - SA(3) - MRAY - BAS Oif o JE N Hlws2
o 2,007 1,481 526
0S+ERY (A ETHIE)
107,720 101 12& 1,293 1,269 24
= 647 635 12
i 646 634 12
0oEsY 40,0002 101122 480 1,320 A840
s 240 660 2420
= 240 660 A420
03 SR (RINHL) 22 RE S 31,920 32,256 N336
OSE At Z22IASRE) 31,920 32,256 A336
0123 2,205,0002*101x12 26,460 29,256 A2,79%
s 13,230 14,628 1,398
o 13,230 14,628 1,398
A RE Y 205,000 *101x 122 2,460 0 2,460
s 1,230 0 1,230
i 1,230 0 1,230
SEArZ2|AF Q1B (KHAI) 13,704 11,562 2,142
101 Q1 24H] 13,179 11,037 2,142
02 JIEHAE= 3,070 2,99 75
OSE At ZEIAH(AIZHI ER D[ T ) 3,070 2,99 75
OAlIZE2I 2R 9,860 %20 A| 2+ 122 2,367 2,309 58
0HDIE AHH| 7. 72024%91 Al 2H%101 703 686 17
03 SR (RINHY)2ZRES 10,109 8,042 2,067
OSE A2 ASRE) 10,109 8,042 2,067
02s B8Y 305,620 %101x 122 4,748 794 3,954
0 RE ALY 0 0 2,040 22,040
OAIZ+2I=E 18,660 % 101x10A| 2++ 128 2,240 2,158 82
0FEE S| 2,600,620 *121%25| x60% 3,121 3,050 71
SEArZ2IAL =5 16,043 14,911 1,132
304 HSREH=S 11,243 10,111 1,132
04 SR (RINHL) 22X BEHSRE=2 S 9,730 8,598 1,132
O32% B8z J|aRg=a 9,068 7,936 1,132
0382 EXSHEY3 4,531,440 4,532 3,400 1,132
DSAF G L 22[XIAH 2SAIS 15,000 15,000 0
= 7,500 7,500 0
< 4,500 4,500 0
o 3,000 3,000 0
201 LAY 8,000 8,000 0
= 4,000 4,000 0
< 2,400 2,400 0
o 1,600 1,600 0
01 At22telt| 6,000 8,000 22,000
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M SXEMD
M OEE SAKA 2 H2ASA
ol slg=AAE (ctel: me)
SX - B S2(3]) - MPAY - BY Ofl koY Jl & o HInE2
OLN=A AR =2 & AL X
6,000,000 6,000 8,000 22,000
= 3,000 4,000 A1,000
== 1,800 2,400 AB00
i 1,200 1,600 2400
03 A2 2,000 0 2,000
OAIS|® 2|2 S Z2T 29
2,000,000 2,000 0 2,000
= 1,000 0 1,000
= 600 0 600
i 400 0 400
NSAF O BHdE2R 8XIKIJ 50,000 50,000 0
< 45,000 45,000 0
= 5,000 5,000 0
401 AIEBIZL S008I 0 50,000 250,000
< 0 45,000 245,000
= 0 5,000 25,000
01 Al&H| 0 50,000 250,000
OBteZ2x XAt o 0 50,000 250,000
< 0 45,000 245,000
i 0 5,000 25,000
405 KHaEE S| 50,000 0 50,000
== 45,000 0 45,000
o 5,000 0 5,000
01 AR SEFSHI 50,000 0 50,000
Ottgize 22l 50,000,0002! 50,000 0 50,000
< 45,000 0 45,000
= 5,000 0 5,000
KIS A MEIASE XA 195,000 180,000 15,000
s 156,000 144,000 12,000
< 19,500 18,000 1,500
= 19,500 18,000 1,500
308 KtXIHHMSO0I& 192,500 177,500 15,000
sy 153,500 141,500 12,000
= 19,500 18,000 1,500
o 19,500 18,000 1,500
3 S ASHICHEHE AR ErAL| 192,500 177,500 15,000
OXGAMMEIAETIAIE 2
192,500,000 192,500 177,500 15,000
s 153,500 141,500 12,000
== 19,500 18,000 1,500
o 19,500 18,000 1,500
KGARIMBIAETIAMS (BX-FEE OFSHA XIS A 1,113 1,176 AB3
)
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2M: S
M gEy SXXE 2 THASAE
R L 2N PN (Ero|: X2l
2A -3 - A(FH) - HIRA - BEZ Of| &toH J &3 N HuwsZ
= 891 940 A49
& 111 118 N7
= 1M 118 AT
308 AHXIHMSOI&E 1,113 1,176 AB3
s 891 940 A49
= 1M 118 AT
= 1M 118 AT
3 B 2SOUSB A LAE ALY 1,113 1,176 AB3
OXIE AR MBIAERAIZ 2 (HEDISA
X2 ALS) 13,000 1,113 1,176 AB3
s 891 940 A49
= M 118 N7
= M 118 AT
KSAMSIMBIAE XA (LA S S AHIAALRE) 184,860 181,880 2,980
ras 147,888 145,504 2,384
= 18,486 18,188 298
= 18,486 18,188 298
201 23| 5,000 3,000 2,000
ras 4,000 2,400 1,600
= 500 300 200
o 500 300 200
01 AtR2t2lt| 5,000 3,000 2,000
OLA=EEMHIA ER 5,000,000 5,000 3,000 2,000
= 4,000 2,400 1,600
= 500 300 200
= 500 300 200
308 KtXISHXMS0IE 179,860 178,880 980
= 143,888 143,104 784
& 17,986 17,888 93
= 17,986 17,888 93
13 S| 2S0ICHEHE & E (&AL I 179,860 178,880 980
OLA=EEMHIA 2 179,860,000 179,860 178,880 980
= 143,888 143,104 784
& 17,986 17,888 93
= 17,986 17,888 98
dgd s|%Ults SEEss AY 150,000 0 150,000
= 45,000 0 45,000
= 105,000 0 105,000
101 Ql24y| 18,000 0 18,000
= 5,400 0 5,400
= 12,600 0 12,600
04 JIZtHI2Z2REE S 18,000 0 18,000
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2AM: SXNEH
M OEE SAKA 2 H2ASA
o2 S|A=XKA (CHol: M)
SA - EH - (32) - MISAY - BAS IR o 2 Hms2
OSst=2 HOLIM IHHI(HAEA)
18,000,000& 18,000 0 18,000
== 5,400 0 5,400
= 12,600 0 12,600
201 et 3| 4,968 0 4,968
< 1,490 0 1,490
= 3,478 0 3,478
01 AtR2elt] 4,968 0 4,968
OEEE Mz, PU(HEA)
3,968,000& 3,968 0 3,968
= 1,190 0 1,190
o 2,778 0 2,778
QIEXNAAYIA 2E HE(LSRH)
1,000,000 1,000 0 1,000
< 300 0 300
i 700 0 700
301 LEt2d= 62,232 0 62,232
== 18,670 0 18,670
o 43,562 0 43,562
02 MBIBEE G Z2(FILAHS, XLHA) 28,512 0 28,512
OBHRHHE MBIAAIE (H2IA)
28,512,000& 28,512 0 28,512
== 8,554 0 8,554
= 19,958 0 19,958
11 HARHIXIR S 3,000 0 3,000
OXISAHNHZIS & 23] S IH=(HA)
3,000,000& 3,000 0 3,000
< 900 0 900
= 2,100 0 2,100
14 JIEtE&Z 30,720 0 30,720
OYEY Cla MHIAAIH (HSEH)
10,080, 000& 10,080 0 10,080
< 3,024 0 3,024
= 7,056 0 7,056
QAEXNSMUIAAMS (ESEA)
10,080,000 10,080 0 10,080
== 3,024 0 3,024
o 7,056 0 7,056
OFHEZIEAL S Es+2(HEA)
10,560,000& 10,560 0 10,560
< 3,168 0 3,168
= 7,392 0 7,392
307 212t01™ 64,800 0 64,800
< 19,440 0 19,440
i 45,360 0 45,360
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SN SXEMY
HH: QS 2N XY L KNA=ZA
=l s|USAXE CEERD
2A -3 - A(FH) - HIRA - BEZ Oi &boH & N Hus2
EENNEEES 64,800 0 64,800
OXF0Pte LEZIAI(SYH)
29,800,000 29,800 0 29,800
[ 8,940 0 8,940
z 20,860 0 20,860
FEHEHINSAIS (HEA)
35,000,0002 35,000 0 35,000
< 10,500 0 10,500
= 24,500 0 24,500
KHRZAF Q1T = 191,537 190,419 1,118
= 33,758 33,200 558
< 14,378 13,037 1,341
z 143,401 144,182 AT81
NEENREREYEE 14,200 14,200 0
[ 4,250 4,700 450
= 9,950 9,500 450
307 120 & 2,200 2,200 0
[ 650 1,100 450
= 1,550 1,100 450
02 QIZHHAIAIRIE X 2,200 2,200 0
OXF2IZ AR S BA
1,100,000 %201 2,200 2,200 0
[ 650 1,100 A450
z 1,550 1,100 450
X EAH RCIUIOIE Q14| 66,419 64,930 1,489
= 33,209 32,465 744
< 9,983 8,116 1,847
z 23,247 24,349 A1,102
101 QI124H] 66,419 64,930 1,489
= 33,209 32,465 744
[ 9,93 8,116 1,847
z 23,247 24,349 A1,102
02 JIEHEI 2 16, 111 0 16, 111
OXFZA 2CIUIOIEH(AIZHIESR LD (HIB
2) QI 16, 111 0 16, 111
0J123(2IIN93)
2,244,160 % 101+62 13,465 0 13,465
= 6,733 0 6,733
< 2,020 0 2,020
z 4,712 0 4,712
0SSR RASHAIZHIEN T 2E)
107,7202%1Q1x68 647 0 647
= 323 0 323
< 97 0 97
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2AX:
T ZH -
o e

chel:

SA - EB - 09l(3)) - HIRAIY - BAS 04l a0l J| & o GlimES]

o 227 0 227

0tE< 40,000 101x62 240 0 240
= 120 0 120

[ 36 0 36

o 84 0 84

0F Mg Al 140,000 %101x62 840 0 840
= 420 0 420

[ 126 0 126

o 294 0 294

OEST=1ENG]l 153, 12024 %101+6 2 919 0 919
= 459 0 459

[ 138 0 138

= 322 0 322

04 DIt HIREXNSES 50,308 64,930 A14,622
OXHA 2 A RCIWIOIE(DI12EA) 21H] 50,308 64,930 A14,622
0123 2,060,7402%101%12% 24,729 48,254 A23,525
= 12,365 24,127 A11,762

< 3,709 6,032 N2,323

o 8,655 18,095 29,440

023 2,060,740 % 101x62 12,365 0 12,365
= 6,182 0 6,182

< 1,855 0 1,855

o 4,328 0 4,328

0AlH| 140,000 %101 128 1,680 3,360 1,680
= 840 1,680 A\B40

< 252 420 A168

o 588 1,260 672

0AH| 140,00021*101+62) 840 0 840
= 420 0 420

[ 126 0 126

o 294 0 294

0YE=OH| 500,0002/%33] 1,500 2,000 A500
= 750 1,000 2250

[ 225 250 NP5

o 525 750 N225

SESE= 2,622,960R%201%13] 5,246 5,131 15
= 2,623 2,565 58

[ 787 641 146

= 1,836 1,925 289

0=XEQIE 720,000 720 1,000 2280
= 360 500 A140

== 108 125 A7

o 252 375 A123

- 205 -




2AX:
T ZH -
o e

chel:

SN - B - SR(3) - NIRAY - LS 0t Il B HImE=l
MUIEEZ J|28E2 3,228,000 3,228 5,185 A1,957
= 1,614 2,593 A979
& 484 648 A164
o 1,130 1,944 2814
THASAF 2CUI0IH ¢ 8,709 8,708 1
101 2124t 6,154 8,708 2,554
02 JIEFEES 1,887 0 1,887
OXFSAF 2CIUIOIE (AIZHLIERADIHI) 1,887 0 1,887
OAIZteI2RE
9,860 101x20 Al 2H6 1,184 0 1,184
0HIH2 4| 7.7202%101%91A| 2¢ 703 0 703
04 J1ZtHI22ASE+ 4,267 8,708 A4 441
OZF0Y|(2LH)
20,0003 *121x62x 123 1,440 2,880 A1,440
OEFMLI(22)
30,0002 121x22Ux 128 720 1,440 AT20
o4ti2gz 2d 332,0002 332 1,200 N\868
OAlIZteI=E 14,790 % 101%10A| 2t 12 1,775 3,188 A1,413
202 Oidl 1,200 0 1,200
01 =LHOHI 1,200 0 1,200
O=Z 0| 200,000 *101+62 1,200 0 1,200
204 2L AH| 263 0 263
02 EZRZHI 263 0 263
OXH2EAL ZCIUIOIE (ARSI ) CH
RIk=g==tu] 43, 750%101x62 263 0 263
304 ASRE3S 1,092 0 1,092
02 FLIALEEHFT 762 0 762
OARIHEIQD SRR IHLEH Il
L= 762 0 762
0=2HLES 112,000 %101+6 2 672 0 672
0L RYEE 15,0002 *1Q1+62 0 0 90
04 SRH(RI|H) 22X PHERFLS S 330 0 330
OARMHEIDINZSRY 1828 J|2ARY
= 55,0002 *101+68 330 0 330
NASAA 22 K& 1,099 1,471 AN372
= 549 735 A186
& 165 221 A56
o 385 515 A130
307 212t01™ 1,099 1,471 AN372
= 549 735 A 186
& 165 221 A56
o 385 515 A130
06 2= 1,099 1,471 A372
OXIASAA B8z K& 1,099,000 1,099 1,471 A372
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S =
[u]

M oSS SAXE L XAESA
gel: HESAF olZet 2= (St XM 2)
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
= 549 735 A186
< 165 221 56
= 385 515 A130
D ZMESH 12,185, 160 11,985,638 199,522
= 9,312,321 9,153,280 159,041
= 180,595 180,595 0
< 1,149, 140 1,137,278 11,862
= 1,543,104 1,514,485 28,619
NASE K&X2 2,251,424 2,052,843 198,581
= 1,638,293 1,479,252 159,041
= 165,874 154,012 11,862
o 447,257 419,579 27,678
22 A 1,563,195 1,358,446 204,749
= 1,250,556 1,086,757 163,799
== 93,792 81,507 12,285
o 218,847 190, 182 28,665
101 el44| 147,000 97,000 50,000
= 117,600 77,600 40,000
< 8,820 5,820 3,000
o 20,580 13,580 7,000
04 J1ZtHI22ASE+ 147,000 97,000 50,000
OZATANEH SHIEZZ A
147,000,000 147,000 97,000 50,000
= 117,600 77,600 40,000
< 8,820 5,820 3,000
o 20,580 13,580 7,000
307 212t01& 1,413,195 1,258,446 154,749
= 1,130,556 1,008,757 123,799
< 84,792 75,507 9,285
= 197,847 176,182 21,665
11 AMSISXAMEEE 1,413,195 1,258,446 154,749
OXNG MY PERE2Z2ALY
1,413,195,0002 1,413,195 1,258,446 154,749
= 1,130,556 1,008,757 123,799
< 84,792 75,507 9,285
= 197,847 176,182 21,665
NG XEHEH2H 260,500 262,283 A1,783
= 182,350 183,598 A1,248
< 23,445 23,605 A160
= 54,705 55,080 A375
307 212t01™ 260,500 262,283 1,783
= 182,350 183,598 A1,248
< 23,445 23,605 A160
= 54,705 55,080 A375
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2AX:
PSP
e

SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
MEEXAESHE2AHIBx 260,500 262,283 A1,783
OXISXt2ME 23| 260,500,000 260,500 262,283 A1,783
= 182,350 183,598 A1,248
< 23,445 23,605 A160
o 54,705 55,080 A375
SR (S SEAY) 256,734 261,119 24,385
= 205,387 208,897 A3,510
< 15,404 15,667 263
= 35,943 36,555 2612
308 KHXIHMSO0I& 256,734 261,119 24,385
= 205,387 208,897 A3,510
< 15,404 15,667 A263
= 35,943 36,555 2612
13 SISO B A ELAEAIS Y] 256,734 261,119 24,385
ORRIEETIRAS (SRR oS
256,734,000 256,734 261,119 A4,385
= 205,387 208,897 A3,510
< 15,404 15,667 A263
= 35,943 36,555 2612
NASE oz X 95,744 94,803 941
= 59,895 59,895
< 11,979 11,979
= 23,870 22,929 941
o220 ESXR(AZ20&2IA 20,875 19,934 941
101 @I244| 20,875 19,934 941
03 SRA(RINHL) 22 RE S 20,875 19,934 941
O 23¢HA2IAF AREASE
205,000 *201x 12 4,920 4,080 840
O2dz=02eIA SEFIHI
2,618, 1203 *221%120% 6,284 6,183 101
HRES (=X 1,462,823 557,517 905,306
LHSHeH K= 588,260 557,517 30,743
2SI EEIHES 588,260 567,517 30,743
701 DIt HEMES 588,260 567,517 30,743
01 JIERIHINES 588,260 567,517 30,743
Oo=20IIZEEH MES
588,260,000 588,260 557,517 30,743
S2HXE 874,563 0 874,563
22Xz BE=g 874,563 0 874,563
802 BtEt=DIEt 874,563 0 874,563
01 =NExZeEa 727,023 0 727,023
020234 JIZMASHALY & &kl
428,586, 750& 428,587 0 428 587
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2AX:

SAEH

PSpIE E%%( PNESE<in]})
i LY (Crol:&2)
2A -3 - A(FH) - HIRA - BEZ Ol énFoH Il 3 o Hus2
O20233 SXE F2U= Syl XA &
SH koK 68,800 69 69
O2023E SXE 2R Yl XIAA 0l
KHedAyon 3704 1 1
0202344 SHAMRI RIS OIAL ZIBHAHOH
91,000 91 91
02023 SEALYIZI2IAL QI2HIANS ZIBHTH
OH(O|XFELE) 49,5502 50 50
02023 SEAIYIZ2IAIY 0| KperAyol
1,620 2 2
02023 22S3AE +3 X2 @43 A
TISHEFOH( Q| KFLE) 52,148,070 52,149 52,149
O2022d 2253U= 232 ST A
E| 54 KFOH 9,440,000& 9,440 9,440
O2021EH 223U £33N L4TALY
ez 9,996,800 9,997 9,997
02020 22SAE +3 X2 E4ZAM
S RSPl 10,070, 4002 10,071 10,071
020198 223U £33N L4TALY
ZlgHEkou 5,470,4002! 5,471 5,471
02018 225U +3 X2 S4TALY
Z g oy 1,492,8002! 1,493 1,493
02023 F=HZOIAIY ZIBHRHOH(O| Xt E)
101,891,240 101,892 101,892
02023 KH&22 AF EISHEIOH(O|XFELE)
55,249,500 55,250 55,250
02023 D2LHY MESX|RIH| AP ZIBHRroH(
OIXIELE) 36,2202 37 37
02023 JIARNE S2X ALY ZIBRHH (0]
Xt ) 6,632,2402! 6,633 6,633
02023 2IZ=XIAIY ZI 81 Kbl
38,840,300 38,841 38,841
02023 KIHAFS| MUIASRFAL ZIBHAFOH(
O Kt &) 6,932,200 6,933 6,933
OXISGRIEHHIE] 2HAI 0| KFerAyol
15,430% 16 16
02 Al - SHIEZZ8HEZ 147,540 147,540
02023 JIZMHIZO! At Zaiztol
53,573,340 53,574 53,574
02023 HALMMIS Ol AL I EroH
9,000¢ 9 9
02023 MASS Al sEHIZAY &
3 Zho 280,000 280 00
02023 MASS AlQM Q5tE=H|Z A0
XAl o 2,602 3 8
020238 ZE8 DIt HI|AL EBHRHH(
OIXIZ &) 96,4102 97 97
020238 2122 XA Zsixiol
4,859,910& 4,860 4.860
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SA: SX™D
o E%%( XI& =47}
i LY (Crol:&2)
SH - B SRI(B) - NISAY - BYS 0t & o HimE==l
020235 K FAFSI MU AS RIAFY &2 &F ok (
ORI E) 1,179,020 1,180 1,180
02020 2252U= +2X0| SZALY
Za oy 755,280 756 796
02023 2RSAYE 220 243 AY
THXH(O|XILE 3,914,350 3,915 3,915
O2022id 225U= +2X0| SZALY
ZI5H XFOH 708,000 708 708
O2021E 225U= +2X0| SZALY
)3 Ko 749,760 750 750
0019 2ERSAYE 220 L3 AY
SR 410,280 A1t 411
02018 2252U= +2 X0 SZALY
SRR 11,9602 12 "2
02023 NISGRIEME SAK 28 X2 At
o FBRIH(OIKIELE) 200, 0602 201 201
02003 KISXIEHMIE 2A3t X2 AFY OIRt
2 Aol 200! 1 1
02023 XISRIZAIE JISE2LAIY OIXpe
ol 230 1 1
02023 HAS TAHZE SEXAAY &
SHEIOH(O|RIELE) 108,230 109 109
02023 RHE2Z2 AtY XSHEIOH(O|RHELE)
4,143,560 4,144 4,144
02023 RIEHMEHSY AR O RpeAgol
1,980¢ 2 2
02023 A2 ABIEXNXBHE 25 & &
A3} AN OIXheaos 2,3502 3 8
02023 THAHTEI|12 TBHEH(0| X&)
54,198,080 54,199 54,199
02023 F=HZ0| TSRO KFEE)
12,736,390 12,737 12,737
02023 DRLHY MEX|RIH| ARl EIBHEHoH(
0IKIZ &) 23,2602 24 24
02023 JIARFE SH2X|RIALS EBHELOH(0]
X&) 1,055,6602! 1,0 1,056
02023 6. 252 H 0l A= SHAFY EIBHEH (0| X}
LS 4,285,920 4,286 4,286
02023 SRR 22H| XA OIXrg
4o 1,800 2 2
02023 SRTX DAICHN EXIT SXIA
o ZISIOH(0| KR 603,902 604 604
02023 ™ A0S SANR ZIHRIoH(
Ol XIE &) 1,713,100 1,714 1,714
OB M2 RE BEOLLAY &
810 (0| X &) 1,396,9102 1,397 1,397
OB SEURTL 95 BEMSSLA
ZISHEIOH (0| KL ) 404,8602 405 405
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20248 =& 1 2| AL Mot

SN =X
M =0|E
el HASS

ANl = O

=BIEE LD IEV R
B

RS

MEoPY I8! (RS AEHORE )| 3 S 3l H)

LA E M A

A -3 - HA(ZAH) - NREAY - BES Oil &uFoH N E AN HlwsS2
SXE 1L 870,29% 858, 155 12,141
0D | ZMESE 870,29% 858, 155 12,141
MNASESMEOIETA(NEL ML I|ISSHIH) 870,29 858, 155 12,141
AL AEHE I ISAIY 870,29 858, 155 12,141
301 LEtEdS 32,000 72,000 240,000
02 AR EEXGIZ(FLAHS, KLHRA) 32,000 72,000 240,000

OX&INd, HAHE NE S

10,000,000 10,000 50,000 A40,000
706 JIEHHSHeH 808,29% 756,155 52,141
03 HE= 808,296 756,155 52,141
OX&lls HE3 808,296,000 808,296 756,155 52,141
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20248 =&

12

1o
U
il
2
S
oy
Jm

Al & 0Ol &8 A F Al A

SH SXZ 2

g

SA: SXEM
M QDT MEEH
tel: MASE =X (2A=SS0II12ELsIH) (CHe]: M)
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
SXNZEL 710,928 652,415 58,513
= 77,428 75,918 1,510
< 19,357 18,980 377
i 614,143 557,517 56,626
D ZMESH 685,045 652,415 32,630
= 77,428 75,918 1,510
== 19,357 18,980 377
= 588,260 557,517 30,743
MASE SR (2A=ZS0II2ELSH) 685,045 652,415 32,630
= 77,428 75,918 1,510
< 19,357 18,980 377
= 588,260 557,517 30,743
o220 8=3=0H| 81,785 79,898 1,887
= 65,428 63,918 1,510
< 16,357 15,980 377
301 Let2dE= 81,785 79,898 1,887
= 65,428 63,918 1,510
< 16,357 15,980 377
01 MBIBEE G2 (ZNEXTHR) 81,785 79,898 1,887
O2AZ =03 X HOHCIZ XD, LI
= 81,785,000& 81,785 79,898 1,887
= 65,428 63,918 1,510
== 16,357 15,980 377
o230l X (AMZRYS) 588,260 557,517 30,743
308 AHXIHHMSO0I& 588,260 557,517 30,743
07 MXISH2 RS2 588,260 557,517 30,743
O2220+3At J2H| S(Z2E2)
588,260,000 588,260 557,517 30,743
MRS (=X 25,883 0 25,833
BREINE(LSSHIISSLESA) 25,883 0 25,883
JIEIBHEE 25,883 0 25,883
802 Btat=DIEt 25,883 0 25,883
01 FLE2XZEEZ 11,991 0 11,991
020233 2SS HAIY & e &tol
11,990, 240& 11,991 0 11,991
02 Al - SHIBESEEZ 2,998 0 2,998
02023E 2|22 HALY & eH&HH
2,997,090& 2,998 2,998
03 JIEtEtEtZ S 10,8%4 10,894
020233 RH0IS= &, JMEZH| S
10,893,660& 10,894 0 10,894
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